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M.A. (Economics) (Semester - 1) (New) (NEP CBCS) Examination:
March/April — 2025
Micro Economic Analysis (230107101)

Day & Date: Thursday, 15-05-2025 Max. Marks: 60
Time: 03:00 PM To 05:30 PM

Instructions: 1) All questions are compulsory.
2) Figures to the right indicate full marks.

Q.1 Select the correct alternative. 12
1) Indifference curve analysis is based on approach.
a) cardinal b) ordinal
c) production d) value of money
2) Revealed preference theory of demand is put forthby
a) Robinson b) Dr. Marshal
c) Samuelson d) None of these

3) The economic question is question of

a) Rarity b) Choice

c) Required d) Absolute competition
4)  Joseph Bertrand assume cost of production in his model.

a) zero b) infinite

c) stable d) rising

The distinction between the firm and industry disappears under

) conditions of.
a) perfect competition b)  monopoly
Cc) monopolist competition d) oligopoly
6) 1SO-quants are always to origin.
a) concave b) convex
c) parabolic d) none of these
7)  Price discrimination is the feather of market.
a) monopoly b)  monopolist competition
c) oligopoly d) perfect competition

8) According to modern theory of cost the average cost curve is

shaped.
a) U b) N
c) C d L
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Q.2

Q.3

Q.4

Q.5
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9) Put the approaches to equilibrium.
a) Chamberlin b) Euler
c) Cobb-Douglas d) Hicks
10) The reasoning process from the general to the particular is known as
a) Deduction b) Induction
c) Development d) Model
11) is the basic of indifference curve analysis.
a) scale of consumption b) scale of production
c) scale of preference d) scale of exchange
12) Economics of scale can be measured with economics.
a) internal and external b) external
c) internal d) internation

Write short answers. (Any Four)

1) What is scarcity of resources?

2) What is an internal economy?

3) What is product differentiation?

4) Whose are features of ISO-quants?
5) What is bilateral monopoly?

6) What is an internal economy?

7) Define substitution effect.

Write short notes. (Any Two)

1) Defects in utility analysis.

2) Douglas production function.
3) Types of equilibrium.

4) Price discrimination.

Broad Question. (Any One)
1) Explain the revealed preference theory.

OR
2) Explain price and output determination under perfect Competitions

Answer the following question in detail
Explain the merit and demerits of Inductive and Deductive methods.

12

12

12

12
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M.A. (Economics) (Semester - 1) (New) (NEP CBCS) Examination:
March/April — 2025
Economics of Growth and Development (230107102)

Day & Date: Saturday, 17-05-2025 Max. Marks: 60
Time: 03:00 M To 05:30 PM

Instructions: 1) All questions are compulsory.
2) Figures to the right indicate full marks.

Q.1 Select the correct alternative. 12
1) Economic Growth refers to the increase in :
a) Real Income b) National Income
c) Population d) Savings
2) Economic development denotesa _ change in the economy.
a) Quantitative b) Qualitative
c) Structural d) None of The Above
3) First Human Development Report published in the year
a) 1991 b) 1990
c) 1997 d) 1998
R — is an effective factor affecting Economic Growth and
Development.
a) Technological progress b) Population
c) Unemployment d) Lack of Capital
5) Correlation between Supply Side and Aggregate Demand Side of
investment explained by
a) Herod b) Domer
c) Solo d) Mrs. Robinson
6) According to the A K Theories in economic development process
along with capital  factor is important.
a) Technical Efficiency b) Capital Productivity
c) Income Efficiency d) Savings Efficiency
7) Balanced Development was advocated by .
a) Prof. Narks b) Prof. Harshman
c) Prof. Singer d) Prof. Kindleberger
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Q.2

Q.3

Q.4

Q.5
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8)  Minimum effort theory of economic development was propounded
by :
a) Gunnar Myrdal b) Paul Samuelsson
c) Prof. Harvey Liebenstein d) A.C. Pingue
9) is a study in Human Development Index.
a) Life Expectancy b) Knowledge
c) Standard of Living d) All of The Above
10) is the prime occupation of Underdeveloped Countries.
a) Agriculture b) Industry
c) Trade d) None of The Above
11) Mrs. Joan Robinson assumes Economy in her Growth Model.
a) Free b) Closed
c) Parallel d) All of the Above
12) Universal Poverty is a major feature of countries
a) Developed b) Underdeveloped
c) Developing d) None of These
Write short answers. (Any Four) 12
1) Briefly explain the Contribution of Classical Economists to Economic
Development Theory.
2) Write solutions to Poverty and Environmental Problems.
3) Explain the components of Human Resource Development.
4) Explain the concept of Unbalanced Development.
5) State the Social Criteria of Economic Development
6) Explain the concept of Intellectual Capital.
Answer the following questions. (Any 2) 12
1) Write Schumpeter’s Theory of Development.
2) Explain the problems of Human Resource Development.
3) Write the factors affecting Economic Growth.
4) State the advantages and disadvantages of Increasing Population.
Answer The Following Question in Detail (Any 1) 12
a) Write the Theory of Population Transition in Detail.
OR
b) Write the A. K. Model related to the Economic Growth.
Answer the Following Question in Detail. 12

Write in detail the characteristics of underdeveloped Countries.
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M.A. (Economics) (Semester - I) (New) (NEP CBCS) Examination:
March/April - 2025
Financial Institutions and Markets | (230107103)

Day & Date: Monday, 19-05-2025 Max. Marks: 60
Time: 03:00 PM To 05:30 PM

Instructions: 1) All questions are compulsory.
2) Figures to the right indicate full marks.

Q.1 Select the correct alternative. 12
1) is the factor of financial structure.
a) Financial instruments b) Financial markets
c) Financial institutions d) Allthe above

2) LM denotes the equilibrium between
a) Demand and Supply of Money
b) Demand and Supply of Saving.
c) Demand and Supply of Goods
d) Demand and Supply of Capital

3) Monetary policy is implemented by

a) Commercial Bank b) Central Bank
c) Co-operative Bank d) Private Bank
4) In E-Banking, E stands for
a) Internet b) Electric
c) Electrical d) Electronic
5) is the component of digital economy.
a) E-business b) E-commerce
c) E-business Infrastructure d) Allthe above

6) The concept of ‘Liquidity trap’ is related with the name of
a) J.M. Keynes b) J.B. Say
c) Adam Smith d) Dr. Marshall

7)  According to J. M. Kenes, demand for money for speculative motive
is depend upon

a) income b) rate of interest
c) saving d) consumption
8) bank has a monopoly to create money.
a) Commercial Bank b) Co-operative Bank
c) Central Bank d) All the above
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Q.2

Q.3

Q.4

Q.5

9)  Unit Trust of India is a

SLR-VK-3

a) Commercial Bank b) Co-operative Bank
c) Investment Bank d) Allthe above
10) Retail banking is also known as a :
a) Co-operative Bank b) Personal Banking
c) Central Banking d) Allthe above
11) Development of is the indicator of Financial development.
a) Capital market b) Service market
c) Industrial market d) Agriculture market

12) Credit money is created by :
a) Government b)
c) International Bank d)

Write short answers. (Any Four)

1) Explain the concept of digital economy.
2) Explain the concept of rate of interest.
3) State the meaning of bank rate.

4) State the meaning of merchant banking.
5) What is monetary policy.

6) Explain the concept of core banking.

Write short answers. (Any Two)
1) Classical theory of interest.

Central Bank
Commercial Bank

12

12

2) Quantitative instrument of monetary policy.

3) Internet Banking.
4) Importance of micro finance.

Write the detail answer. (Any One)

12

a) Explain the merit and demerits of E-banking.

OR
b) Explain the structure of financial system.

Explain the functions of Central Bank.

12
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Seat
No. Set| P
M.A. (Economics) (Semester - |) (New) (CBCS) Examination:
March/April - 2025
Research Methodology in Economics (230107105)
Day & Date: Saturday, 24-05-2025 Max. Marks: 60

Time: 03:00 PM To 05:30 PM

Instructions: 1) All questions are compulsory.
2) Figures to the right indicate full marks.

Q.1 Select the correct alternative. 12
1) is a first stage of Research.
a) Survey of literature b) Formulation of Research Problem
c) Report writing d) Final Conclusion
2) is the feature of good research report writing.
a) Clarity of ideas b) Use of technical terminology
c) Reliability d) all of the above
3) is a source of primary data collection.
a) Observation b) Hypothesis
c) Questionnaire d) None of the above

4) The Researcher has to prepare the research design
a) Before starting research work
b) After research work
c) Atthe time of writing Report
d) None of the above

5) A sample should be
a) Verysmall b) Very big
c) Representative d) None of the above

6) The objective of research should be

a) Realistic b) unrealistic

c) unethical d) none of the above
7) Atleast people are involved in interview.

a) One b) Two

c) Five d) More than five
8) Question in the questionnaire should be :

a) Simple b) Understandable

c) Answerable d) all of the above
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Q.2

Q.3

Q.4

Q.5
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9)  Which of the following is an example of a probability sampling method?

a) Convenience sampling b) Purposive sampling
c) Simple random sampling d) Quota sampling
10) Is an instrument of secondary data collection.
a) Observation b) Public records and reports
c) Interviews d) Questionnaire
11) The sample selection has to be on criteria.
a) Subjective b) Prejudice
c) Objective d) All of these
12) In Diagnostic research design has priority for
a) Problem formulation b) Problem solving
c) Problem description d) Problem in-depth understanding
Write short answers. (Any Four) 12

1) State the meaning of Observation.

2) Explain the types of Concept.

3) Explain significance of research design.
4) Explain the objectives of report writing.
5) What is social research?

6) State the advantages of questionnaires.

Answer the following questions. (Any Two) 12
1) Explain types of sample selection.

2) Write the merits and demerits of interview technique.

3) Explain the characteristics of ideal report writing.

4) Explain the significance of the hypothesis.

Answer the following question in detail. (Any One) 12
1) State the meaning of research design and explain the types of
research design.
OR

2) State the characteristics of good report writing.

Answer the following question in detail. 12

What is data collection? Explain the primary and secondary sources of
data collection.

Page 5 of 5



SLR-VK-05

Seat

No. Set| P

TAY. (Economics) (3 — 1) (M) (NEP CBCS) TI&T: H1H /Te — 0’4
Industrial Economics -1 (230107106)

IR, fHI® : AHAR, 3%-04-303Y4 PHHT T : €0
Je5. GURT : 03:00 T 04:30

AT : ?) T U IfaRd e,
R) SodIdEle 3 qoi o1 TRfdra.

Wy Wieid faelel AR 9al fagd Moetedn SIFT ¥R R
) o RvHar —— 73w 'L

) TgIEN §) HIS TN
®) faceh Sam S) NP AT

) —— B AEfD R iy fauy aire.
3) T DR q) SN RATBIHIT
%) 3ienfire fag ) R Ad

3) —— T SN G SfeT 3R,
3) ORI OIRd %l Fafaor §)  fafes arefaor
F) IATEA G BH BRI ) WA |a

¥) T ORI 3% T ADeA 3% gegIel 8 U —— I forfga.

) S AN §) IS deR
®) IrSARHY S) SIuHHN

)  EERIYU SN R ATHR IMMOT FENT G FeTgehdl
AR ——— S Il
3) Rer q) HUTH®D
)  YAHD g) A

§)  RATBIHROTET BpIor & Ahedd —— JiT Ararei Hefed 37e.
) IS daR q) Rarel
®) SrHERd ) SIUH.H

w) geH, g ST HegH SENT HATAAT! WIIAT —— ATl SiTedl.
3) R4y 9) Ry
F) 000 S) R09%

Page 1 of 5



SLR-VK-05
¢) AYSYUN & YA —— IR,

3) HISdd U= q) ST ggE
®) S T S) AYDT e
])  WRATAA ——— BT BIIGl FgRIEg HUAiges BIdl.
) W YAdUdld dle  d) TAL ST dTS
®) FRH 916 SCANSIE]
20) WToie FAIR=T I 3y worre fAf¥erdrar —— Riegid disel.
3) farHe gead §) o geed
@) SMYfTH Tead S) DT ATE
) ——— B SN YT fArard He<ardl T R drsdl.
3)  pul IR q) 3MIC!
®) SlficHEEd S) YD AT
R) IS SENT & AT ——— SR,
3) S g q) 59 "4
@) Tisdd HU ) I ATEL
W} G geEl diewd Sy fofgl (@odl @R) R

Q) YN GHRIT W NI,

R) SiTENfTe ScTaehdl & HehedT T P,
) SN WD & Hheurl W BN,
¥) SN BRIEH & Fheddl W B,
) SN WRIFSIBRUT Tcdh .

§) TEISIY HUTE YfAHT W DI

w3 died feur forsl. (@ |a) R
Q) UV AT SE e
) SENAT RThIbROT=T FHRT
3) Y SRRl AR

¥) SO RO SRw

Page 2 of 5



SLR-VK-05
Uy el TR SR forer. (@) ) R
?) 3 AT SEE YT W BN,
fopar
) IAHhS deR Il AN e R Ryeald wWee &,

gy SIEfe IAeehd MUiRd #RUIN gedh W< . R

Page 3 of 5



SLR-VK-05

Seat
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M.A. (Economics) (Semester - 1) (New) (NEP CBCS) Examination:
March/April - 2025
Industrial Economics -1 (230107106)

Day & Date: Monday, 26-05-2025 Max. Marks: 60
Time: 03:00 PM To 05:30 PM

Instructions: 1) All questions are compulsory.
2) Figures to the right indicate full marks.

Q.1 Select the correct alternative. 12
1) Economic inequality in decreases due to
a) Small Scale Industries b) Large Scale Industries
c) Foreign Industries d) None of these
2) is the subject matter of industrial economics
a) Classification of Industries b) Localization of Industries
c) Industrial Finance d) All the above
3) is the objective of firm
a) To earn maximum profit b) To Increase in sales

c) Toreducing production cost d) All the above

4)  The book "Theory of Location of Industries" was written by

a) Dr. Marshall b) Alfred Weber
c) Adam Smith d) J. M. Keynes
5) Generally relationship between size of firm and productivity are :
a) Constant b) Negative
c) Positive d) Inverse
6) The concept of "Locational Triangle" is relate with the name of
a) Alfred Weber b) Recardo
c) Dr. Marshall d) J. M. Keynes
7)  The Ministry of Micro, Small and Medium enterprises established in
the year .
a) 1951 b) 1991
c) 2007 d) 2014
8) Small scale industries are mainly :
a) Capital intensive b) Land intensive
c) Labour intensive d) None of these
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Q.3

Q.4

Q.5

9) is the benefit of multinational company to India.
a) Increase in foreign Investment
b) Increase in technology transfer
c) Increase in export
d) Allthe above

SLR-VK-05

10) Sergeant flowrence was introduced theory of industrial location
a) Deductive method b) Inductive method
c) Modern method d) Allthe above
11) industry plays an important role in rural development.
a) Agro-based b) IT
c) Automobile d) None of these

12) Large scale industries are mainly :
a) Land intensive b) Labour intensive
c) Capital Intensive d) None of these

Write short answers. (Any Four)

1) Explain the classification of industries

2) Explain the concept of industrial productivity

3) Explain the concept localization of industry

4) Explain the concept of efficiency of firm

5) State the factors determining location of industry
6) Explain the role of multinational companies

Write short notes. (Any Two)

1) Role of industry in rural development
2) Problems of industrial localization

3) Problems of small scale industries

4) Objectives of firm

Answer the following questions. (Any One)

1) Explain the role of industry in economic development.
OR

2) Explain the Webers theory of industrial location.

Explain the factors determining industrial productivity.

12

12

12

12
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M.A. (Economics) (Semester - 1) (New) (NEP CBCS) Examination:
March/April - 2025
Indian Economic Policy - | (230107107)

Day & Date: Monday, 26-05-2025 Max. Marks: 60
Time: 03:00 PM To 05:30 PM

Instructions: 1) All questions are compulsory.
2) Figures to the right indicate full marks.

Q.1 Select the correct alternative. 12
1) The Sustainable Development Goals comprises of how many goals
and targets?
a) 17 goals and 132 targets b) 17 goals and 169 targets
c) 15 goals and 123 targets d) none of the above

2)  Which of the following indicators is NOT used to calculate Human
Development Index (HDI).
a) Life Expectancy b) Education
c) Per Capita Income d) Social Inequality

3)  Which one among the following was the focus of the Twelfth Five —
Year Plan?
a) Sustainable and Inclusive Growth
b) Social Justice and Equality
c) Food, Work and Productivity
c) Attainment of Self -reliance

What is the below poverty line (BPL) percentage in India as per the

4) 2011 census?
a) 32% b) 22%
c) 42% d 35%
5) Poverty estimation in India is carried out by :
a) NITI Aayog's task force b) CSO
c) NSSO d) RBI

6) The process of rural to urban migration is primarily driven by
a) Industrialization and job opportunities
b) Agricultural advancements and rural development
c) Cultural preferences and traditions
c) Government policies discouraging urbanization

7)  Which of the following methods measures poverty on the basis of
income and consumption levels?
a) Poverty limit b) Poverty bar
c) Poverty band d) Poverty line
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Q.3
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8) According to Census 2011, how much was the Total Fertility Rate

(TFR) in India?

a) 2.1 b) 2.3
c) 24 d 20

9) First Human Development Report Published in the year
a) 1991 b) 1990
c) 1997 d 1998

10) is characteristic of under developed countries.
a) Low Per Capita Income b) Economic Disparity
c) Vicious circle of poverty d) All of these

11) When was NITI Aayog established?
a) 1 January 2015 b) 25 January 2016
c) 14 May 2014 d) 1 July 2015

12) The concept of five-year plans in the Constitution of India is
borrowed from
a) Russia b) England
c) The United States d) Germany

Write short answers. (Any Four)

1) Explain the Regional Imbalance in India.

2) Explain the Need of Environment Conservation

3) Write the Demographic Trends in India.

4) Explain the Indicators of Human Development Index.
5) Explain the Indicators of economic Development.

6) Write Present Position of Energy Resources in India.

Answer the following questions. (Any Two)
1) Discuss on Rural- Urban Migration in India.
2) Write Objectives of Planning in India.

3) Describe the Sustainable Development.

4) Explain the Demographic Features of India.

Answer the following question in detail. (Any One)
1) Explain the Role of State in Economic Development.

OR
2) Describe the Organisation and Functions of NITI Aayog.

Answer the following question in detail

Describe the Cause of Poverty in India and give Measures to Reduce
Poverty.

12

12

12

12
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M.A. (Economics) (Semester - 1) (New) (NEP CBCS) Examination:
March/April - 2025
Principles & Practice of Co-Operation | (230107104)

Day & Date: Wednesday, 28-05-2025 Max. Marks: 30
Time: 03:00 PM To 04:30 PM

Instructions: 1) All questions are compulsory.
2) Figures to the right indicate full marks.

Q.1 Rewrite Sentence by choosing the correct options given below. 06
1) is known as a father of modern co-operative movement.
a) Robert Owen b) Raiffeisen
c) Schultze d) William King.
2) District Central Co-operative Banks are the organization of
a) PACs b) SCBs
c) LDBs d) NABARD
3) are also known as ‘Agricultural and Rural Development Banks'.

a) Regional Rural Banks

b) Urban Co-operative Banks

c) Land Development Banks

d) Primary Agricultural Credit Co-operatives.

4)  Afirst country to start co-operative credit movement in the world is

a) India b) Italy

c) France d) Germany
5) Alltrading in cash is principle.

a) Rochdale b) Raiffeisen

c) Schultze d) all of these

6) The main motto of co-operative movement is

a) capital formation b) profit motive
c) political motive d) voluntary motive
Q.2 Answer the following questions (Any Two) 06

a) Whatis long term loan?

b) Define Urban Co-operative Bank.

c) What is mixed economy?

d) State two problems of primary co-operative Agricultural Credit
Society.
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Q.3 Short Note 06
Origin of Co-operative movement in the world.
Q.4 Answer the following broad question. (Any One) 12
a) Discuss about the Manchester’s principles of co-operation.
OR

b) Explain the structure and problems of state co-operative banks.
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M.A. (Economics) (Semester - II) (New) (NEP CBCS) Examination:
March/April - 2025
Micro Economic Analysis Il (230107201)

Day & Date: Wednesday, 14-May-2025 Max. Marks: 60
Time: 11:00 AM To 01:30 PM

Instructions: 1) All questions are compulsory.
2) Figures to the right indicate full marks.

Q.1 Select the correct alternative. 12
1) Accordingto a perfectly equal distribution of wealth will
maximize social welfare.
a) Pareto b) Pigou
c) Arrow d) Kaldor
2) The idea of quasi rent was first presented by
a) Recordo b) Marshall
c) Mrs. Robison d) Pinger
3) Liquidity Preference theory of interest is concerned with
a) Credit money b) Demand for money
c) Capital d) None of the above
4) suggested the importance of sales as an alternative of profit
maximization.
a) Williamson b) Ben
c) Marries d) Baumol
5)  The theory of division has to with the element.
a) Personal b) functional
c) sectional d) general

6) The Karl Marx theory of Income and distribution is related to

a) innovation b) risk and uncertainty

c) labour value d) None of these
7) Kaldor-Hicks criterion is related with

a) National Income b) Per capita income

c) Welfare measure d) Compensation principle
8) Modern theory of Interest has been put forward by

a) Smith b) Bain

c) Prof. Hicks and Prof. Hansen d) Pareto
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9) Modem Theory of rent has been put forward by
a) Dr. Marshall b) Bain
Cc) Smith d) Walras
10) Uncertainty Bearing Theory of Profit has been put forward by—.
a) Walkar b) Marshall
c) Knight d) None of the above
11) Parato Optimality is concern with
a) utilization b) production
c) welfare d) None of the above
12) Price limiting is
a) Attractive to the new firm b) Non attractive to the new firm
c) Profit maximizing d) None of the above
Answer the following questions. (Any Four) 12
1) What is marginal physical productivity?
2) What is means by price limiting?
3) What is risk spreading?
4) What is mean by quasi rent?
5) What is welfare?
6) Whatis wage?
Write short notes. (Any Two) 12
1) Discuss about pigovian welfare economics.
2) Explain the concept of economics of search.
3) Explain the concept of parato optimality.
4) Explain the Marxian theory of distribution.
Answer the following broad questions. (Any One) 12
a) Explain the modern theory of interest.
OR
b) Explain Baumol's sales revenue maximisation model.
Answer the following broad question. 12

Discuss fully marginal productivity theory of distribution.
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M.A. (Economics) (Semester - II) (New) (NEP CBCS) Examination:
March/April — 2025
Economics of Growth and Development (230107202)

Day & Date: Friday, 16-05-2025 Max. Marks: 60
Time: 11:00 AM To 01:30 PM

Instructions: 1) All questions are compulsory.
2) Figures to the right indicate full marks.

Q.1 Select the correct alternative. 12
1) Industrialization leads to
a) Employment generation b) Expansion of Trade

c) Optimum utilization of resources
d) Allthe above

2) Infrastructural development includes development

a) Road b) Railway
c) Communication d) All of the above

3) is the characteristics feature of new Agricultural Technology.
a) Use of HYV Seeds b) Use of Chemical fertilization
c) Multiple cropping d) All the above

4)  Sustainable agriculture means development of agriculture
sector.
a) Eco friendly b) Techno friendly
c) Capital friendly d) None of the above

5) Capital intensive production techniqgue means __ use capital.
a) Less b) Minimum
c) More d) None of the above

6) TRIPS are related with :

a) Intellectual property b) Tourism

c) Tele Communication d) None of the above
7) is the outcome of implementation of New Agricultural

Technology.

a) Green revolution b) Blue revolution

c) White revolution d) None of the above
8) WTO comes into exists in

a) 1975 b) 1985

c) 1995 d) 2005
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9) is an instrument of Fiscal Policy.
a) Tax b) Bank Rate
c) Transaction of debentures d) Cash reserve ratio
10) GATT is related with sector.
a) Agriculture b) Industry
c) Trade d) None of the above
11) Foreign Direct Investment is an important Indicator of :
a) Social development b) Cultural development
c) Economic development d) None of the above
12) _ are the tools of fiscal policy.
a) Taxation b) Government Research
c) Government borrowing d) None of the above
Write short answers. (Any Four) 12
1) Explain the concept of Shadow Prices
2) Importance of New Technology in agriculture.
3) Sustainable agricultural Growth.
4) What is monetary policy?
5) Explain the concept of GATT.
6) Importance of Foreign Direct Investment.
Write short notes. (Any Two) 12
1) Cost Benefit Analysis
2) World Trade Organization
3) Explain the concept of Infrastructure.
4) Explain the concept of Domestic Borrowing.
Broad Question. (Any One) 12
a) Explain the importance of Industrialization in developing countries.
OR
b) Explain the role of monetary policy in developing countries
Explain the concept and importance of Fiscal Policy. 12

Page 5 of 5



SLR-VK-10

Seat
No. Set| P
THY. (Economics) (@3 — 1) (A1) (NEP CBCS) UXla:
A= /T — 0’4
Financial Institutions and Markets Il (230107203)
IR, {3 : HTBAR, 0-04-:03Y FATA TOT %0

5. ADBIST 22:00 T 0230

AT 2 2) |Wd U IfTaR 3re.
R) SodIdela 3fd gof Tur TRifadra.

v @i felel 979 AR fRagd Meeedn ST )1 0
?)  SINIfdes el RITYAT —— ATl SiTefl.
) ¥y 9 erye
) 2318 S) 2002
) IR IRY IOIRIET —— & e 3178,
) e q)
%) 3 amfor ) TP TR
3)  YRANI IR I IR 8 —— Y o el
3) ITs g qu
®) Hag g) facel
¥) INIRMAE AR gedl —— iR 8.
3) THE ql My §) Headl 9@
B) DIARBR S) MBI AR
) IFC = WRIUA —— HE FTell.
) rawy 9 R4y
B)  REY 8) w)wy
%) IRDA T [0 —— .
) T PR ESIELS
®) UTI S) &l
©) ORI Y5——— Hgd faalid Hell ST,
37) RBI q) WEPNI dB
®) AETS S) HUAl

Page 1 of 5



SLR-VK-10

¢)  PINNR Gl d6IR 8 —— ISR SUYSTOIR TS,
) HIsded §)  SaRRIS
®) I §) OISR

Q) IACIRTEY fa<T HETHS®TE AT ——— oIl HEd HRUGATS]
B

3) HEDRI I q) Y Hiedell e
®) GroWl SR ) AN TR
20) WAl W 301 fafry Aemss —— 2 Fdeid e
31) AT gOIR §) Ao doTR
P) IH] IR €) Hisdd 9o
Q) Y SIGIR AT Hisqel R § ——— ORI e 3ed.
) I q)  SNARRTEY
$)  wHal s) fakm
) AT AT fIBRATATS! SMARRTE I bl —— U @l
ST,
3)  SIrTde I §) IMF
@) RBI SIESICIS
GTellel Tl MNSHTT SR T8l (@Uad) =) R

g) SRR Rl BOTol BIA?
) NI T IR B,

3) RN gl IR "N By ?
¥) oRar My R wuN Br?
) TR IR IS Hr?

§) U " Bra?

feur forer. (@or@rd <) R
) RGN AW oI

S U, (PIvETEl U®) R
Q) ARSI AT Aol Ifqasd g BRI W DI,

fepar
) SINIfde debel BRI A

Page 2 of 5



SLR-VK-10

WY SRR I R
IR e dodl Ifiaed 9 BRI W A,

Page 3 of 5



SLR-VK-10

Seat
No. Set| P

M.A. (Economics) (Semester - II) (New) (NEP CBCS) Examination:
March/April — 2025
Financial Institutions and Markets Il (230107203)

Day & Date: Tuesday, 20-05-2025 Max. Marks: 60
Time: 11:00 AM To 01:30 PM

Instructions: 1) All questions are compulsory.
2) Figures to the right indicate full marks.

Q.1 Select the correct alternative. 12
1) World Bank established in this year.
a) 1944 b) 1951
c) 1991 d) 2001
2) is this Indicators Indians all stock Markets.
a) SENSEX b) NIFTY
c) a&bboth d) None of these
3) The first stock market exchanged in India is started.
a) Chennai b) Pune
c) Bombay d) Delhi
4) issued treasury Bills in Market.
a) SBI b) Central Bank
c) Central Government d) None of these

5) IFC’ is established in .

a) 1945 b) 1955
c) 1965 d 1975
6) IRDA Controlled by the :
a) State Government b) NABARD
c) UTI d) SEBI
7) Commercial papers issued by :
a) RIB b) Co-operative Bank
c) NABARD d) Company
8) Treasury Bill Market is a sub-market of market.
a) Capital b) International
c) Goods d) Money
9) International Finance Co-operation is established to help
a) Co-operative Industry b)  Joint Stock Industry
c) Private Industry d) Government Industry
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10) The securities and exchange Board of India is related to
a) Money Market b) Public Market
c) Good Market d) Capital Market
11) Money market and capital market is the factors of Market.
a) Internal b) International
c) Service d) Financial
12) International Bank of Reconstruction and development is known as
a) World Bank b) IMF
c) RBI d) NABARD
Write short answers. (Any Four) 12
1) What is International Liquidity?
2) Functions of EURO currency market?
3) Whatis Treasury Bill?
4) What is floating exchange rate?
5) What is stock exchange?
6) What is credit creation?
Write Short Notes. (Any Two) 12
1) Government Security Market
2) Role of many Market
3) Functions of Capital Market
4) Functions of SEBI
Broad Question. (Any One) 12
a) Explain the objectives and functions of International financial
corporation.
OR
b) State the functions of world Bank.
Board Answer Question 12

Explain the objectives and functions of Asian development Bank.
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THY. (Economics) (83 — 11) (@) (NEP CBCS) WRI&: |14/ Te — 014
Principles & Practice of Co-Operation -1 (230107204)
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NO. Set| P
M.A. (Economics) (Semester - II) (New) (NEP CBCS)
Examination: March/April - 2025
Principles & Practice of Co-Operation-I (230107204)
Day & Date: Thursday, 22-05-2025 Max. Marks: 30
Time: 11:00 AM To 12:30 PM
Instructions: 1) All questions are compulsory.
2) Figures to the right indicate full marks.
Q.1 Choose the correct alternatives. 06
1) The co-operative sugar factory is industry.
a) Consumer co-operative b) Co-operative farming
c) Co-operative Services d) Co-operative processing

2) InIndia the first Co-operative Housing Society established in

a) 1909 b) 1910
c) 1920 d) 1924
3) Goods Agriculture which graded and accorded certificates are listed
as goods.
a) ISl b) LIC
c) SAIL d) AGMARK

4)  According to 1904 act, the development responsibility of co-operative
movement was given to

a) State government b) Central government
c) Local self-government d) None of the above

5) is a function of Co-operative Department.
a) Supervision and legislation b) Administration
c) Financial Support d) All of these

6) ___ is problem of Dairy Co-operatives in Maharashtra.
a) Transportation b) Lack of capital
c) Milk prices d) All of these

Q.2 Write short answers. (Any Two) 06

a) What is consumer’s co-operative society?
b) What is co-operative administration?

c) Define co-operative farming.

d) State the meaning of co-operative Audit.
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Q.3 Write Short Notes. 06
Discuss about the problems of labour co-operatives.

Q.4 Write the detailed answer (broad answer type question) (any One) 12
1) State the progress and problems of sugar co-operative in Maharashtra.
OR
2) Explain the role of Government in development of co-operative
movement.
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M.A. (Economics) (Semester - II) (New) (NEP CBCS) Examination:
March/April - 2025
Industrial Economics - Il (230107206)

Day & Date: Tuesday, 27-05-2025 Max. Marks: 60
Time: 11:00 AM To 01:30 PM

Instructions: 1) All questions are compulsory.
2) Figures to the right indicate full marks.

Q.1 Select the correct alternative. 12
1) The second five year plan of India was focused on
a) agricultural development b) industrial development

c) service sector development d) none of these

2) InIndia, maternity benefit act was passed in year

a) 1947 b) 1951
c) 1961 d 1970
3) Small Industrial development Bank of India was established in year :
a) 1951 b) 1970
c) 1977 d) 1990
4) In India Information Technology Act was passed in year
a) 1951 b) 1977
c) 2000 d 2015
5) InIndia LPG model introduced inyear .
a) 1956 b) 1977
c) 1981 d 1991
6) Industrial Finance Corporation of India was established in year
a) 1948 b) 1951
c) 1961 d 1977
7) IniIndia is a problem of industrial labour.
a) Low wage rate b)  Poor working condition
c) Unemployment d) Allthe above
8) is the problem of sugar industry in India.
a) Faulty Government Policy b) High production cost
c) Lack of skilled labour d) Allthe above
9) In India central pollution control board established in year
a) 1951 b) 1974
c) 1991 d) 2004
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10) InIndia, Industrial disputes act was passed in year

a) 1936 b) 1943
c) 1947 d) 1966
11) Industrial Development Bank of India was established in year
a) 1948 b) 1964
c) 1977 d 1991
12) is the reason of industrial sickness in India.

a) High price of industrial product
b) Skilled labour

c) Mismanagement

d) none of these

Write short answers. (Any Four) 12
1) Explain the concept of industrial sickness.

2) State the functions of State Finance Corporations.

3) Explain the concept of social security.

4) Give the information about IT industry in India.

5) Explain the concept of industrial disputes.

6) State the features of industrial policy of 1991.

Write short notes. (Any Two) 12
1) LPG and industrial growth in India.

2) Role of Industrial Development Bank of India in industrial development.

3) Problems of industrial labour.

4) Problems of cotton industry in India.

Answer the following. (Any One) 12
1) Explain the causes of industrial sickness in India.
OR
2) Explain the present position and problems of sugar industry in India.
Write the detail answer. 12

Explain the causes of industrial disputes in India.
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M.A. (Economics) (Semester - 1) (New) (NEP CBCS) Examination:
March/April - 2025
Indian Economic Policy - 1l (230107207)

Day & Date: Tuesday, 27-05-2025 Max. Marks: 60
Time: 11:00 AM To 01:30 PM

Instructions: 1) All questions are compulsory.
2) Figures to the right indicate full marks.

Q.1 Select the correct alternative. 12
1) InIndia Information Technology Act was Passed in the year
a) 1998 b) 1999
c) 2000 d 2001
2) The First Industrial policy of independent India was announced in the
year :
a) 1948 b) 1949
c) 1950 d 1951
3) Is one of the problems of sick Industries in India?
a) Low Capital b) Old Machinery
c) aandb d) None of the Above
4)  Controls the Capital Market in India.
a) R.B.L b) S.B.L
c) SEBI d) All of the Above
5) _ Factors are important to raise industrial productivity
a) New Technology b)  Skilled labour
c) Finance d) All of the Above

6) Industrial Exit Policy means
a) Forcing foreign companies to leave India
b) Forcing business units to move out of congested localities
c) Allowing manufactures to shift their line of products
d) Allowing business units to close down

7)  The headquarters of the Securities and Exchange Board of India are

in :
a) Mumbai b) New Delhi
c) Kolkata d) Chennai
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8) The primary purpose of the RBI monetary policy is to maintain
a) Price stability b) exchange rate
c) growth d) None of the Above
9) Capital market is a market for :
a) Long term capital b)  Short term capital
c) Working capital d) All of the above
10) Treasury Bills or T-Bills are short term debt instruments which are
issue by Government of India and presently issued in ___
a) 91 day b) 182 day
c) 364 day d) alla, bandc are true
11) What is meant by MSME?
a) Medium, Small and Marginalized Enterprises
b) Micro, Small and Marginalized Enterprises
c) Medium, Strategic and Micro Enterprises
d) Micro, Small and Medium Enterprises
12) India’'s New Industrial policy- 1991 is relatedto
a) Globalization b) Privatization
c) Liberalization d) all of the Above
Write short answers. (Any Four) 12
1) Explain The New Industrial policy.
2) Explain the Exit Policy.
3) Analyze the Price Behavior in India.
4) Describe the Problems of Industrial Labour.
5) Write the problems of Cotton Textile industry in India.
6) Explain the Nature of IT industry in India.
Answer the following (Any Two) 12
1) Write the Causes of Industrial Disputes in India.
2) Explain the Function of Money Market and Capital Market.
3) Write the Financial Sector Reforms in India.
4) Write the advantages and disadvantages of privatization.
Write the detail answer. (Any One) 12
1) Write in detail the functions of SEBI.
OR
2) Explain the Present Position and Problems of Sugar Industry in India.
Write the detail answer. 12

Write in detail Role of Small Scale Industries in India.
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M.A. (Economics) (Semester - lll) (New) (NEP CBCS) Examination:
March/April - 2025
Macro Economic Analysis | (230107301)

Day & Date: Thursday, 15-May-2025 Max. Marks:60
Time: 11:00 AM To 01:30 PM

Instructions: 1) All questions are compulsory.
2) Figures to the right indicate full marks.

Q.1 Select the correct alternative. 12
1) Correlation between money supply and money value is
a) Inverse b) Equal
c) Indeterminate d) None of the above
2) In Fisher's equation 'V' stands for
a) Value of money b) Aggregate money supply
c) Velocity of Money d) All of the above
3) The remuneration of capital is called .
a) Profit b) Interest
c) Reward d) Grant
4)  Marginal consumption propensity is always
a) Positive b) Negative
c) Decrease d) Increase
5) Absolute income hypothesis was first proposed by
a) Keynes b) Marshall
c) Smith d) None of these
6) Fisher gave more importance tothe __ function of money
a) Store of value b) Medium of exchange
c) Credit creation d) None of these
7) Monetary policy and fiscal policy are _ each other.
a) Alternative b) Anomalous
c) Supplementary d) Non of the above

8) Savings is based on
a) Income b) Investment
c) Interest d) None of these

9) The functional relationship between income and consumption is

called
a) Investment function b) Consumption function
c) Income function d) None of these
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10) Post office Savings Deposits include

a) M1l by M2
c) M3 d M4
11) The IS curve is sloped
a) Positive b) Parallel
c) Negative d) All of the above
12) The rate of interest determined by the demand and supply of capital
is called rate of interest.
a) Market b) Natural
c) Artificial d) None of theses

Write short answers. (Any Four)

1) Explain the Concept of National Income.

2) Explain the Concept of multiplier.

3) Explain the relative income hypothesis.

4) Explain the marginal efficiency of investment.

5) Explain the factors affecting on consumption.

6) Explain the limitations of national income measurement.

Answer the following questions. (Any Two)

1) Explain the Input-Output method of National Income accounting.
2) State the practical application of consumption function.

3) Explain the RBI approach to money supply.

4) Explain Fisher's equation of exchange

Broad Question. (Any One)
a) Explain the Circular flow of Income in Two, Three and Four Sector
Economy.
OR

b) Write the IS - LM Model in detail.

Answer the following question in detail.

Explain in detail the Keynes liquidity preference approach to demand for
money.

12

12

12

12
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M.A. (Economics) (Semester - lll) (New) (NEP CBCS) Examination:
March/April — 2025
Public Economics | (230107302)

Day & Date: Saturday, 17-05-2025 Max. Marks: 60
Time: 11:00 AM To 01:30 PM

Instructions: 1) All questions are compulsory.
2) Figures to the right indicate full marks.

Q.1 Select the correct alternative. 12
1) is a remedial measure of poverty alleviation.
a) Population Control b) Employment generation
c) Toriseinincome d) All above
2) Modern theory of shifting of tax burden is explained by
a) Mansfield and Canard b) Marshall
c) Ricardo d) Pigue

3) A person who is paying the tax actually after completing shifting
processing is called

a) Tax shifting b) Tax Burden
c) Taxincidence d) All above

4)  According to shri. P. D. Oza everyday every individual should get at
least calories through his meal.
a) 2100 b) 2500
c) 2250 d) 1550

5) Classical Economist Adam Smith was of interference of
Government in Economy.
a) Neutral b) Favour
c) Infavour d) None of above

6) The principle of exclusion exists in the market of goods.
a) Public b) Private
c) Merit d) Social

7) To keep economic growth stable with price levels __ policy is
important.
a) Stabilization b) Monetary
c) Neutral d) None of these
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8) Competitiveness is a feature of goods.
a) Private b) Public
c) Merit d) Social
9) According to J. M. Keynes Government has to play role in the
process of economic development.
a) Minimum b) Less
c) Vital d) None of the above
10) Problem of allocation of resources arises dueto ___ of resources.
a) Availability b) Productivity
c) Scarcity d) None of the above
11) Planning Commission was established in India in the year
a) 1947 b) 1950
c) 1951 d) 1955

12) Public expenditure means an expenditure incurred by

government of a country.
a) Central b) State
c) Local d) Al

Answer the following questions. (Any four)

1) What is regional balance?

2) What is poverty?

3) What is tax burden?

4) What is public goods?

5) What are private goods?

6) Write any two problems of allocation of resources.

Write short notes. (Any Two)

1) Explain the pure theory of public expenditure.

2) Explain the private mechanism for allocation of resources.
3) Explain the externalities of public goods.

4) Discuss on the Keynes view on stabilization policy.

Answer the following broad question. (Any one)
1) Discuss in details about the major social goals.

OR
2) Explain the economic theory of Democracy.

Answer the following broad question.

What is public expenditure? State the causes of increasing public
expenditure.

12

12

12

12
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No. Set| P

M.A. (Economics) (Semester - lll) (New) (NEP CBCS) Examination:
March/April — 2025
Agricultural Development of India-1 (230107303)

Day & Date: Monday, 19-05-2025 Max. Marks: 60
Time: 11:00 AM To 01:30 PM

Instructions: 1) All questions are compulsory.
2) Figures to the right indicate full marks.

Q.1 Select the correct alternative. 12
1) Is the father of Indian Green Revoluation.
a) Dr. M.S. Swaminathan b) Dandekar & Rath
c) P.D.Ojha d) Dr.V.K.R.V.Rao
2) The size of economic holding deepens on :
a) The fertility of soil b) Method of cultivation
c) Nature of crops d) All of the above
3) H.Y.V.P.isrelated to revolution.
a) Green b) White
c) Black d) Blue
4) Is economics factors which influences on cropping pattern.
a) Climate b) Rainfall
c) Sall d) Price and income maximization

5) Agreement on agriculture deals with

a) providing market access b) Regulating domestic support
C) export subsidies d) All the above
6) Rural electrification co-operation founded in
a) 1959 b) 1969
c) 1981 d) 2001
7) unemployment is found in Agriculture sector.
a) Disguised b) Under unemployment
c) Seasonal d) All of the above

8) Indian government gives subsidy for the agriculture sector stands
to the ratio of Agriculture.
a) 3% b) 15%
c) 29% d) 35%
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9) has the highest share in irrigation in India.
a) Tanks b) Canals
c) Wells and tube wells d) other sources
10) land tenure system was existing before independence.
a) Rayat wari b) Mabhalwari
Cc) Zamindari d) All of the above
11) Box includes subsidies on direct payment given to farmers.
a) Blue b) White
c) Green d) All

12) Among food grain the largest increase in area has been recorded by

a) Wheat b) Jawar
c) Magi d) Rice
Write short answers. (Any Four) 12

1) What is green revaluation?
2) What is Bhudan movement?
3) What is rural electrification?
4) Define organic farming.

5) What is contract farming?

6) What is soil erosion?

Write short notes. (Any Two) 12
1) Agricultural Policy

2) Objectives of land reforms in India

3) Soil conservation.

4) Impact of New Agriculture technology.

Answer the following questions in detail. (Any One) 12
1) Explain the features of green revolution in India.
OR

2) Explain the role of Agriculture in Indian Economy.

Answer the following questions in detail. 12

What is land productivity? Explain the reason of low productivity of Indian
agriculture.
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No. Set| P

M.A. (Semester - lll) (Economics) (New) (NEP CBCS) Examination:
March/April — 2025
Labour Economics (230107304)

Day & Date: Saturday, 24-May-2025 Max. Marks: 30
Time: 11:00 AM To 12:30 PM

Instructions: 1) All questions are compulsory.
2) Figures to the right indicate full marks.

Q.1 Choosethe correct alternative: 06
1)  Supply of labour in short period is supposed to be
a) Inelastic b) Elastic
Cc) Less elastic d) None of these
2)  When workers migrate from one region to another region for
employment is called mobility.
a) Occupational b) Historical
c) Geographical d) Seasonal

3) The employment and economic development are

a) alternate b) interrelated
C) opposite d) notrelated

4)  Labour market is market.
a) Perfect b) Imperfect
c) Monopoly d) Monopolistic

5) this is the factor that determines the supply of labor.
a) Population growth b) Government policy
c) Wage levels d) All of the above

6) Agriculture labour is in India.

a) unorganized
b) organized

c) trained

d) all of the these

Q.2 Write short answers. (Any Two) 06
1) State the characteristics of labour market in India.
2) Write any two causes of low productivity of Indian workers.
3) Explain any two types of unemployment.
4) Explain the Methods of recruitment of labour in brief.

Q.3 Write short note. 06
Explain the Imperfections in labour market.
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Q.4 Answer the following in detail. (Any One) 12
a) What is unemployment? Discuss the various causes of unemployment
in India.
OR

b) State the impact of rationalization and modernization on employment
in agricultural sector.
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Seat

No. Set| P

M.A. (Economics) (Semester - lll) (New) (NEP CBCS) Examination:
March/April - 2025
International Trade and Finance - | (230107306)

Day & Date: Monday, 26-May-2025 Max. Marks: 60
Time: 11:00 AM To 01:30 PM

Instructions: 1) All questions are compulsory.
2) Figures to the right indicate full marks.

Q.1 Choosethe correct alternative: 12
1) India has adopted globalization in year.
a) 1981 b) 1986
c) 1991 d) 2001
2) has propounded the concept of factor endowment.
a) Ohlin b) Taussing
c) J.S.Mil d) Dorrance
3) Globalization implies trade.
a) Free b) Protected
c) Restriced d) None of the above
4)  The modern theory of International trade is formulated by
a) Adam Smith b) David Recardo
c) Heckscher-Ohlin d) None of the above
5) International trade between many countries is known as trade.
a) Bilateral b) Multilateral
c) Inter-regional d) None of the above

6) The International theory of absolute advantage is formulated by

a) Adam Smith b) David Recardo

c) Heckscher-Ohlin d) None of the above
7)  The concept balance of payment is related with trade.

a) Internal b) Regional

c) Foreign d) None of the above

8) The international theory of comparative costs assumes trade of
commodities.

a) One b) Two

c) Several d) None of the above
9) The pure theory of international trade is formulated by

a) Adam Smith b) David Ricardo

c) Heckscher-Ohlin d) None of the above
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10) District trading is an example of trade.

a) Internal b) International

c) Foreign d) None of the above
11) Dumping is the technique used in trade.

a) Internal b) International

c) Foreign d) None of the above
12) The classical theory of international trade is formulated by

a) Adam Smith b) David Recardo

c) Heckscher-Ohlin d) None of the above

Write short answers. (Any Four)
1) What is Globalization?

2) What is import quotas.

3) Whatis internal trade.

4) What is dumping?

5) What is terms of trade.

6) Whatis free international trade?

Write short notes. (Any Two)
1) Free trade

2) Types of internal trade

3) Exchange rate

4) Export quotas

Broad answer questions. (Any One)

1) Explain the basic assumptions of classical theory of international
trade.

2) Explain the role of international trade in Economic development.

Broad answer questions.
Explain the various gains of Internation trade.

12

12

12

12
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M.A. (Economics) (Semester - lll) (New) (NEP CBCS) Examination:
March/April — 2025
Advanced Banking - |1 (230107307)

Day & Date: Monday, 26-05-2025 Max. Marks: 60
Time: 11:00 AM To 01:30 PM

Instructions: 1) All questions are compulsory.
2) Figures to the right indicate full marks.

Q.1 Select the correct alternative. 12
1) Credit Card Is Also Known As :
a) Metal Money b) Plastic Money
c) Paper Money d) None Of These
2)  Which of the following is an example of a commercial bank?
a) Central Bank b) Investment Bank
c) State Bank of India d) Reserve Bank of India

3)  Which type of bank is owned and controlled by its members, who
share resources and risks?

a) Commercial Bank b) Cooperative Bank
c) Investment Bank d) Central Bank
4) is primary function of commercial bank.

a) Accepting deposits

b) Providing loans

c) Facilitating foreign exchange transactions
d) All of the above

5) is the primary purpose of KYC norms.
a) To prevent money laundering
b) To prevent terrorist financing
c) To identify and verify customer identity
d) All of the above

6) is a key benefit of a No-Frills Account.
a) High interest rates on deposits
b) Low transaction fees and minimal charges
c) Low transaction fees and minimal charges
d) Advanced online banking features

7) type of deposit allows the depositor to withdraw funds on demand
a) Fixed Deposit b)  Recurring Deposit
c) Demand Deposit d)  Savings Deposit
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Q.4

Q.5

8) is a Demat Account.
a) A type of savings account
b) A type of current account

c) An account that holds securities in electronic form

d) A type of loan account

9) does NRI stand for in the context of banking

a) Non-Resident Individual b) Non-Resident Indian

c) New Resident Investor d) Non-Resident Institution
10) is a key benefit of E-Banking.

a) Increased banking hours

b) Improved security

c) Enhanced customer convenience
d) Allthe above

11) ATM stand for
a) Automated Teller Machine
b) Any Time Money
c) Automated Transaction Machine
d) Automatic Teller Machine

12) BHIM stand for

a) Bharat Interface for Money b) Bharat Initiative for Mobile
d) Bharat Interface for Mobile  d) Bharat Initiative for Money

Write short answers. (Any Four)

1) Describe the Definition of bank.

2) Explain the concept of green banking.

3) Write the characteristics of zero balance account.
4) Write Benefits of Demat account.

5) Explain the Need of KYC norms.

6) Write the Importance of sustainable banking.

Write short notes. (Any Two)

1) Explain the Principles of banking.

2) Explain the Types of bank customers

3) Explain the limitation of Credit Creation
4) Write the advantages of mobile banking.

Answer the following question in detail. (Any One)

SLR-VK-19

12

12

12

1) Write in detail the advantages and disadvantages of internet banking.

OR
2) Write in detall the functions of commercial bank.

Answer the following question in detail
Explain in detail the various types of banks in India.

12
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Seat
No. Set| P
M.A. (Economics) (Semester - lll) (New) (CBCS) Examination:
March/April — 2025
Macro Economic Analysis (MA24301)
Day & Date: Thursday, 15-05-2025 Max. Marks: 80

Time: 11:00 AM To 02:00 PM

Instructions: 1) All questions are compulsory.
2) Figures to the right indicate full marks.

Q.1 Select the correct alternative. 16
1) According to Keynes’s psychological Theory of consumption,
consumption costs increase with an increase in income.
a) Higher Speed b) Lower Speed
c) Same Speed d) None of above

2)  The relationship between money supply and money value is

a) Negative b) Positive
c) Uncertainty d) None of above
3) Currency are considered important in the Cambridge equation.
a) Flow b) Stock
c) Bothaandb d) None of above
4)  The IS Curve is sloping :
a) Negative b) Positive
c) Parallel d) None of above

5) A decrease in the money supply causes the LM curve to shift

sideways.
a) Right side b) Left Side
c) Bothaandb d) None of above
6) The level of income and the demand for money are related.
a) Non- linear b) Linear
c) Disproportionate d) All of above

7)  The concept of multiplier was first introduced by

a) Keynes b) Kanh
c) Aftalian d) Marshal
8) Money is a very
a) Heavy b) Lighter
c) Liquid d) Overweight
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9) Inthe money has more power to create credit money.
a) Narrow Money b) Broad Money
c) High powered d) None of above

10) Relative income is Related to the
a) Friedman b) Keynes
c) Tobin d) Dusenbery

11) National Income means money value of product in a year.
a) Demand and supply b) Goods and Services
c) Income and production d) Import-export

12) The marginal efficiency of Investment is concept.
a) Stock b) Flow
c) Negative d) Positive

13) The circular flow of income in the four sector economy mainly adds

to the :

a) Capital Sector b) Foreign Sector

c) Government Sector d) All of above
14) Is not included in the concept of M.

a) Fixed deposits

b) All types of deposits in the post office
c) Other deposits in the Reserve Bank
d) All of these

15) Marshall’s equation is

a) M=KR b) M=KY
c) M=KM d M=KT
16) IS-LM theory is given by :
a) Keynes b) Hiks-Hansan
c) Marshall d) None of the above
Write short answers. (Any Four) 16

1) Explain the National Income.

2) Explain the money multiplier.

3) Explain the absolute income hypothesis.

4)  Explain the relationship between deficit payment and money supply.
5) Explain the RBI’s view on money supply.

6) Explain the circular flow of income in the three- sector model.

Answer the following questions. (Any Two) 16
1) Explain the Fisher’'s Equation.

2) Explain the practical use of consumption function.

3) Write the theory of Keynes demand for money.

4) Explain the marginal Efficiency of investment.

Answer the following questions in detail. (Any One) 16
1) Discuss in detail the marginal efficiency and investment of capital.
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OR
2) Discuss the Keynes’s Liquidity preference approach.

Q.5 Answer the following question in detail. 16
Explain the Keynes’s theory of consumption psychology.
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Seat
No. Set| P
M.A. (Economics) (Semester - lll) (New) (CBCS) Examination:
March/April — 2025
Public Economics (MA24302)
Day & Date: Saturday, 17-05-2025 Max. Marks: 80

Time: 11:00 AM To 02:00 PM

Instructions: 1) All questions are compulsory.
2) Figures to the right indicate full marks.

Q.1 Select the correct alternative. 16
1) Law of increasing state activities is stated by
a) Adam Smith b) Keynes
c) Musgrave d) Adolph Wagner
2) Problem of allocation of resources arises dueto _ of resources.
a) Availability b) Productivity
c) Scarcity d) None of the above

3) A person who is paying the tax actually after completing shifting
process is called :
a) Tax shifting b) Tax burden
c) Taxincidences d) All the above

points out that the benefits of economic development trickle

4) down to the poor people.

a) Keynes b) Levis

c) S. Kuznets d) Marshal
5) Economy tries to develop the good qualities of socialist and

capitalist economy.

a) Socialist b) Capitalist

c) Mixed d) Allthe above
6) Absolute divisibility is a property of Goods.

a) Public b) Private

c) Club d) None of these
7) Externalities are associated with Goods.

a) Public b) Private

c) Mixed d) None of these
8) is the cause of economic disparity in India.

a) Poverty b) Unemployment

c) Population growth d) All the above

Page 4 of 6



Q.2

Q.3

SLR-VK-21

9) The zero-base budgeting system is developed by in 1970.
a) Keynes b) Peter A. Pyhrr
c) Wiseman d) Manmohan Singh

10) Expenditure incurred by the government for social welfare is called
expenditure.

a) Private b) Personal
c) Public d) None of these
11) According to the Laffer curve an additional tax increase affects
on the economic stimulus.
a) Unfavorable b) Good
c) AandB d) None of these

12) What is the primary goal of poverty alleviation programs?
a) To reduce income inequality
b) To increase economic growth
c) Toimprove access to basic needs like food, shelter, and
healthcare
d) None of the above

13) The concept of club goods introduced by

a) Buchanan b) Kuznets

c) Wagner d) Peter Pyher
14) The concept of functional finance was first introduced by

a) Lewis b) Marshall

c) Kuznets d) Lerner
15) Taxis Payment to the government.

a) Compulsory b) Voluntary

c) lllegal d) None of the above
16) Is the study area of public economics.

a) Public expenditure b) Public income

c) Public debt d) All the above
Write short answers. (Any Four) 16

1) Explain the concept of tax shifting.

2) Explain the characteristics of private goods.

3) Explain the problem of resource allocation.

4) Explain Externalities of public goods.

5) Explain the private mechanism of resource allocation.
6) Explain the characteristics of club goods.

Answer the following questions. (Any Two) 16
1) Suggest measures to reduce poverty.
2) Explain the Classical view of public expenditure.
3) Explain the concept of regional balance.
4) Explain Keynes’ stabilization policy.
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Q.4 Answer the following questions in detail. (Any One) 16
1) State the Causes of increase in public expenditure in India.
OR

2) Explain the Role of Government in a mixed economy.

Q.5 Answer the following questions in detail. 16
Write in detail major social goals.
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Seat
NO. Set| P

M.A. (Economics) (Semester - lll) (New) (CBCS) Examination:
March/April — 2025
Research Methodology (MA24303)

Day & Date: Monday, 19-05-2025 Max. Marks: 80
Time: 11:00 AM To 02:00 PM

Instructions: 1) All questions are compulsory.
2) Figures to the right indicate full marks.

Q.1 Select the correct alternative. 16
1)  Null Hypothesis is denoted by :
a) HO b) H1
c) PO d Pl
2)  Selection of the problem is the stage of research.
a) Last b) First
c) Second d) Third
3) Research is process that goes on for
a) Short term b) Medium term
c) Longterm d) Temporary
4) Interview method is a data
a) Primary b) Secondary
c) Third d) Allthe above
5) IS a systematic planning of research.
a) Hypothesis b) Interview
c) Question bank d) Research Design
6) Generally, questionnaire should be .
a) Large b) Small
c) Medium d) none of these
7) Atleast persons are requires for interview.
a) One b) Three
c) Two d) Four
8) is the feature of good report writing.

a) Clarity of ideas

b) Use of technical Terminology
c) Reliability

d) Allthe above
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9) is the objective of research
a) To find out truth
b) Attainment of knowledge
c) Solving social problem
d) All the above

10) is the source of primary data collection.

a) Observation b) Autobiography

c) Report d) All the above
11) Report writing is the stage of research.

a) last b) first

c) second d) none of these
12) is the source of secondary data collection.

a) Report b) Autobiography

c) News paper d) Allthe above
13) Observation technique is useful in cases.

a) All b) Every

c) Some d) None of these
14) A study of unit is performed in the case study.

a) One b) Many

c) Large d) None of these
15) Interviewis a process.

a) One way b) Two way

c) Listening d) None of these
16) is useful for collection and analyzing data.

a) Research Method b) Hypothesis

c) Questionnaire d) None of these

Q.2 Write short answers. (Any Four) 16

1) Explain the concept of research.

2)  State the meaning of interview.

3) Explain the concept of research design.

4)  State the importance of Hypothesis.

5)  Explain the concept of sampling technique.
6) State the features of research.

Q.3 Answer the following questions. (Any Two) 16
1) Types of research
2) Characteristics of good research design
3) Sources of data collection
4)  Preparation of research report
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Q.4 Answer the following questions in detail. (Any One) 16
1) Explain the significance of research design.
OR

2) What is observation? Explain the merits and demerits of observation.

Q.5 Explain the characteristics of good report writing. 16
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Seat
No. Set| P
M.A. (Economics) (Semester - lll) (New) (CBCS) Examination:
March/April — 2025
Labour Economics (MA24304)
Day & Date: Saturday, 24-05-2025 Max. Marks: 80

Time: 11:00 AM To 02:00 PM

Instructions: 1) All questions are compulsory.
2) Figures to the right indicate full marks.

Q.1 Select the correct alternative. 16
1) is a feature of the labour market.
a) Local appearance b) Incomplete market
c) Lack of mobility d) All of the above
2) Information on the nature and estimation of unemployment in India is
published by .
a) planning board b) state exchange center
C) census report d) all of the above
3) 1948the _ act for workers was passed.
a) minimum wage act b) relative wages act
c) bonus allocation act d) none of this

4)  The employment and economic development are
a) alternate b) interrelated
C) opposite d) notrelated

5)  Supply of labour in short period is supposed to be

a) Inelastic b) elastic

c) less elastic d) none of these
6)  Agriculture labour is in India.

a) unorganized b) organized

c) trained d) all of the these
7)  When workers migrate from one region to another region for

employment is called mobility.

a) occupational b) historical

c) geographical d) seasonal
8) Bonus Allocation Act was enacted in :

a) 1965 b) 1955

c) 1960 d) 1950
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9) is the benefit of the profit-sharing scheme.
a) Increased efficiency b) Corruption
c) Delays d) All of the above
10) Labour market is market.
a) Perfect b) Imperfect
c) Monopoly d) Monopolistic
11) The major obstacle to business mobility is understood.
a) Education b) Lack of information
c) Corruption d) All of the above
12) this is the factor that determines the supply of labor.
a) Population growth b) Government policy
c) Wage levels d) All of the above
13) theory of wage determination suggests that wages are
determined by the marginal productivity of labor.
a) Keynesian theory b) Marxian theory
c) Neoclassical theory d) Institutional theory
14) Is the main feature of the minimum wage.
a) Ban on economic exploitation of workers
b) Prohibition of unethical competition
c) Increase in labor efficiency
d) Above all
15) In labor economics, the term 'human capital” refers to:
a) Physical assets owned by workers
b) Investments in education, training, and skills
c) Financial resources accumulated by workers
d) None of these
16) The wages which will enable the workers to provide food, clothing,
shelter frugality, rest and in times of crisis are
a) Life wages b) Minimum wages
c) Cash wages d) Realwages
Write short answers. (Any Four) 16
1) State the characteristics of labour market in India.
2) what is productivity of labour
3) Write any two causes of low productivity of Indian workers
4) Explain any two types of unemployment
5) Explain the Methods of recruitment of labour in brief
6) Concept of minimum wage
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Q.3 Write Short Notes. (Any Two) 16
1) Explain the Imperfections in labour market.
2) Explain the process of Wage determination in brief.
3) Explain the Labour market reforms
4) Causes of educated unemployment.

Q.4 Answer the following questions in detail. (Any One) 16
1) What is mobility of labour? Discuss the various factors affecting the
mobility of labour
OR

2) Explain the Marginal Productivity theory of wages.

Q.5 Answer the following questions in detail. 16
Discuss the various factors affecting the demand and supply of labour.
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Seat
No. Set| P
M.A. (Economics) (Semester - lIl) (New) (CBCS) Examination:
March/April — 2025
Agricultural Development of India (MA24305)
Day & Date: Saturday, 24-05-2025 Max. Marks: 80

Time: 11:00 AM To 02:00 PM

Instructions: 1) All questions are compulsory.

2) Figures to the right indicate full marks.

Q.1 Select the correct alternative. 16
1) The new agricultural strategy in India was started from year.
a) 1970-71 b) 1951-52
c) 1960-61 d) 1980-81
2) Institutional factor affects agricultural productivity.
a) size of land holdings b) Fertilizers
c) Seeds d) Risk and uncertainty
3) The precision farming depends upon a new technology of
a) Satellite image b) Information Technology
c) spatial resources d) All of the above
4) The contract farming was started in in India.
a) 1960 b) 1975
c) 1989 d) 2000
5) The National Commission on Farmers was appointed under the
chairmanship of Dr M. S. Swaminathan in the year
a) 1990 b) 2004
c) 2009 d) 2015
6) Marine Fishing Policy was started in India in the year
a) 2004 b) 2000
c) 2005 d) 2003
7)  The National Wasteland Development Board was established in the
year
a) 1985 b) 1980
c) 2010 d) 2004
8) Zamindari system was introduced in India was started In the year
a) 1650 b) 1770
c) 1793 d) 1835
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9) The new water policy in India was started in year.
a) 2002 b) 2009
c) 2008 d 2011

10) The ‘Intensive Agricultural District Programme’ was started during
five year plan.

a) Fifth b) Second

c) Third d) Fourth
11) The share of agricultural sector in GDP of India is in post-

independence period.

a) Increasing b) Stagnant

c) Decreasing d) None of these
12) has the highest share in irrigation in India

a) Tanks b) Canals

c) Wells and tube wells d) Other sources
13) Blue revolution in related to :

a) Agriculture b) Industry

c) milk production d) fish production
14) The first Green Revolution in India took place in

a) 1980-85 b) 1995-97

c) 1966-67 d) 1980-81
15) is the non-conventional source of energy.

a) Fuel wood b) Coal

c) Oil d) Solar energy
16) In___ year dairy industry was delicensed.

a) 1990 b) 1985

c) 2005 d) 2010

Q.2 Write short notes. (Any Four) 16

1) What is meant by changing cropping pattern?
2) What is agricultural policy?

3) What is meant by contract farming?

4) What is soil erosion?

5) When was W.T.O established?

6) What is meant by rural electrification?

Q.3 Answer the following questions (Any Two) 16
1) Discuss in detail about Agricultural technology and employment.
2) Discuss in detail about the White revolution.
3) Explain the Organic farming.
4) Explain the Feminization of Indian Agriculture.
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Q.4 Write answer the following. (Any One) 16
1) Critically evaluate the green revolution in India.
OR

2) State and explain progress of irrigation and various sources of irrigation

Q.5 Answer the following question in detail. 16
State the role of agriculture in Indian economy.
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Seat
No.

Set| P

M.A. (Economics) (Semester - IV) (New) (NEP CBCS) Examination:

March/April — 2025
Macro Economic Analysis Il (230107401)

Day & Date: Wednesday, 14-May-2025 Max. Marks: 60
Time: 03:00 PM To 05:30 PM

Instructions: 1) All questions are compulsory.

2) Figures to the right indicate full marks.

Q.1 Select the correct alternative. 12
1) According to the factor affecting the demand for goods is the
actual balance of stocks held by individuals.
a) Tobin b) Keynes
c) Petinkin d) None of the above
2) The concept of real balance effect was introduced by
a) Central Government b) State Government
c) R.B.I d) Prime Minister
3) Tobin’s called to Risky investors.
a) Gamblers b) Plungers
c) Averters d) None of the above
4) economists introduced the monetary theory of demand for
money.
a) Tobin b) Pigu
c) Bamul d) Fridman
5) According to Bamul, demand for cash when interest rates are high
a) Increases b) Decreases
c) Remains constant d) None of the above
6) Absence of inflow and outflow of capital between countries
means.
a) Mobility of capital b) Immobility of capital
c) Bothaé&b d) None of the above
7) According to excess supply of currency means inflation.
a) Crowther b) Hotrey
c) Kemrar d) None of the above
8) Keynes stated that the cause of inflation is

a) Excess demand b) Excess Supply
c) Bothaé&hb d) None of the above
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9) The Philips curve shows relationship between the wage rate
and the unemployment rate.
a) Positive b) Equal
c) Negative d) None of the above

When the actual inflation rate and expected inflation rate equal to the

10) unemployment rate. That rate is called
a) unnatural rate of unemployment
b) Natural rate of unemployment
c) Disequilibrium rate of unemployment
d) None of the above
11) Long run Phillips curve was formulated by .
a) Phillips b) Friedman
c) Solow d) Samuelson
12) The concept of rational expectation was first introduced by
a) Fridman b) Keynes
c) John F. Muth d) None of these
Answer the following questions. (Any Four) 12
1) Whatis inflationary gap?
2) What is meant by natural rate of unemployment?
3) What is open economy?
4) Explain the Short Run Philips Curve
5) Philips Curve reveals the relationship between which factors?
6) Explain the Monetary approach to inflation.
Answer the following questions. (Any Two) 12
1) Explain the Real balance effect
2) Explain the new classical approach towards macro economics.
3) Explain the Fridman theory of demand for money.
4) State the monetarist approach to inflation.
Answer the following questions in detail. (Any One) 12
a) Explain the concept of short run and long run Phillips curve.
OR
b) Explain the Tobin's theory of demand for money.
Answer the following question in detail. 12

Explain various measures of inflation control.
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Seat

No. Set| P

M.A. (Economics) (Semester - IV) (New) (NEP CBCS) Examination:
March/April - 2025
Public Economics Il (230107402)

Day & Date: Friday, 16-05-2025 Max. Marks: 60
Time: 03:00 PM To 05:30 PM

Instructions: 1) All questions are compulsory.
2) Figures to the right indicate full marks.

Q.1 Select the correct alternative. 12
1)  Which year did India introduce the GST?
a) 2014 b) 2016
c) 2018 d) 2020
2) Domestic debtis called _ public debit.
a) Internal b) Local
c) External d) None of the above
3) Monetary policy and fiscal policy are __ each other.
a) Alternative b) Anomalous
c) Supplementary d) None of the above

2) is a financial transfer from the central government to the state

government.

a) Participation in tax revenue b) Grants

c) Loans d) All of the above
5) Income tax is an example of :

a) Direct Tax b) Indirect Tax

c) Special Tax d) State Tax
6) presents the Union Budget.

a) Prime Minister b) Chief Minister

c) Governor d) Union Finance Minister
7)  Public debt taken for war expenditure is debt.

a) Productive b) Unproductive

c) Voluntary d) None of these
8) InIndia type of polity exists.

a) Unitary polity b) Multilateral polity

c) Federal polity d) All of the above
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9) The concept of real balance effect was introduced by

a) Central Government b) State Government

c) R.B. d) Prime Minister
10) During the boom period, public expenditure should be

a) less b) More

c) VerylLarge d) None of the above
11) During arecession, the budget is expectedtobe

a) Surplus Budget b) Deficit budget

c) Zero Balanced Budget d) Balanced Budget
12) Taxes are being transferred.

a) Direct Tax b) Indirect Tax

c) Progressive Tax d) None of these

Write short answers. (Any Four)

1) Explain the concept of direct tax.

2) Write what is public debt.

3) Write the reasons for the increase in public debt.

4) Explain the fiscal policy strategy for stabilization.

5) Explain the reasons for the increase in public expenditure in India.
6) Explain the principles of public debt management.

Answer the following questions. (Any Two)

1) Explain the instruments of revenue of the State Government.
2) Explain the different types of taxation in India.

3) Explain the classical view of public debt.

4) Explain the federal system of government in India.

Answer the following questions in detail. (Any One)
a) Explain the role of fiscal policy in economic development.

OR
b) Explain the interdependence between monetary policy and fiscal
policy.

Answer the following question in detail.
Write the functions of the Finance Commission in detail.

12

12

12

12
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M.A. (Economics) (Semester - IV) (New) (NEP CBCS) Examination:
March/April — 2025
Agricultural Development of India- 1l (230107403)

Day & Date: Tuesday, 20-05-2025 Max. Marks: 60
Time: 03:00 PM To 05:30 PM

Instructions: 1) All questions are compulsory.
2) Figures to the right indicate full marks.

Q.1 Select the correct alternative. 12
1) NAFED was established on :
a) 1950 b) 1958
c) 1960 d 1965
2) The lead bank scheme is formulated by :
a) Narsimham b) Mehata
c) Patil d) Nariman
3) The commission and market charges in regulated market are fixed
by .
a) Market committee b) Farmers
c) Government d) Agents

4)  The aim of Buffer stock policy of the government is

a) Industrial Development b) rural development
c) Price stability d) None of the above
5) When commercial Banks give the direct loans for agriculture, this
loans is known as :
a) Direct b) indirect
c) Cheap d) None of the above
6) In 1980 programme was started.

a) Integrated Rural Development Programme
b) Javahar Rojgar Yojana.

c) Drought prone area programme

d) Employment Assurance scheme

7)  The minimum support price are recommend by

a) CACP b) NABARD
c) NAFED d) NCDC
8) provides short term loan to agriculture sector.
a) ICICI b) IDBI
c) UTI d) Primary Agriculture
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9) In Agriculture sector production function of
a) Increasing b) Decreasing
c) Constant d) Negative

10) The Co-operative credit societies in India started in

a) 1910 b) 1904
c) 1912 d 1918
Is responsible for poor economic condition of agricultural
11)
labour.
a) Seasonal employment b)  Strong Organization
c) Lack of Indebtedness d) Education
12) is a major feature of agriculture labour.
a) More literacy b) Lesswage
c) Organized d) All of the above
Write short answers. (Any Four) 12

1) What is marginalization of agricultural Labour?
2) Whatis long term loan?

3) What s the full form of C.A.C.P.

4) What is agro Industry.

5) What is Agricultural Marketing.

6) What is short term loan.

Write short answers. (Any Two) 12
1) Indebtedness of farmer’s

2) Food security.

3) Methods of fixation of agricultural prices.

4) Agriculture finance.

Write the detail answer. (Any One) 12
a) Explain the progress and problems of Agro Industries.
OR
b) Explain the role of NABARD in Agricultural finance.
Write the detail answer. 12

Explain the agricultural price policy in India.
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Seat

NO. Set| P

M.A. (Economics) (Semester - IV) (New) (NEP CBCS) Examination:
March/April - 2025
International Trade and Finance-Il (230107405)

Day & Date: Thursday, 22-May-2025 Max. Marks: 60
Time: 03:00 PM To 05:30 PM

Instructions: 1) All questions are compulsory.
2) Figures to the right indicate full marks.

Q.1 Choosethe correct alternative: 12
1) In balance of trade, when income is greater than expenditure,
that balance of trade is called a surplus balance of trade.
a) International trade
b) Internal trade
c) State trade
d) Localtrade

2) World Bank provides finance.
a) Short term b) Longterm
c) Agricultural d) Industrial

3) WTO was established in the year :

a) 1985 b) 1997
c) 1995 d 2024
2) is a method to correct the imbalance in the balance of
payments.
a) Currency devaluation b) Domestic price stability
c) Import-export control d) All of the above
5) IMF provides type of financial assistance.
a) Short-term b) Long-term
c) Agricultural d) Industrial

6) Invisible items in the balance of payments include:
a) Machinery exports
b) Software services
c) Oilimports
d) Gold purchases

7) Ininternational trade, when income is less than expenditure, the
balance of payments is called :
a) Deficit balance b) Surplus balance
c) Adverse balance d) None of the above
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8) After 1991, India adopted a policy of in foreign trade.
a) Liberalization
b) Control

c) Commercialization
d) Structural adjustment

9) SEZ stands for :

a) Special Economic Zone b) Social Economic Zone
c) Special Export Zone d) None of the above
10) The rate determined freely by the demand and supply of currency is
called the rate.
a) Fixed
b) Flexible

c) Determined
d) Controlled

11) is the objective of the International Monetary Fund (IMF).
a) Promote international cooperation
b) Increase international trade
c) Establish multilateral systems
d) All of the above

12) In July 1944, during the meeting held in Britain, was established.
a) World Bank
b) World Trade Organization (WTO)

c) SAARC
d) OPEC
Q.2 Write short answers. (Any Four) 12

1) What is favorable & unfavorable balance of payment?

2) State the main functions of the International Monetary Fund (IMF).

3) State any two limitations of Special Economic Zones (SEZs).

4) What is the difference between balance of trade and balance of
payment?

5) State any two features of India's trade policy in the 1990s.

6) Explain the major functions of MNC’s.

Q.3 Answer the following questions. (Any Two) 12
1) Explain the Meaning and components of balance of payments.
2) Describe the objectives and functions of the World Trade
Organization (WTO).
3) Explain the causes of disequilibrium in the balance of payments?
4) Explain the Gold standard.
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Q.4 Answer the following questions. (Any One) 12
1) Discuss the impact of globalization on India's foreign trade.
OR

2) Explain the role of Foreign Direct Investment (FDI) in Economic
Development.

Q.5 Answer the following question in detail. 12

Explain the merits and demerits of fixed and flexible exchange rate
systems in the context of Developing countries.
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Seat
No.

Set| P

M.A. (Economics) (Semester - IV) (New) (NEP CBCS) Examination:
March/April — 2025
Advanced Banking-Il (230107406)

Day & Date: Thursday, 22-05-2025 Max. Marks: 60
Time: 03:00 PM To 05:30 PM

Instructions: 1) All questions are compulsory.
2) Figures to the right indicate full marks.

Q.1 Select the correct alternative. 12
1) concept was not a part of the economic reforms under the
New Economic Policy (NEP) in 1991.
a) Centralisation b) Liberalisation
c) Globalisation d) Privatisation
2) controls the supply of money and bank credit.
a) RBI b) SEBI
c) Indian Banking Association d) None of These
3) bank is an international finance and credit institution.
a) RBI b) SBI
c) World Bank d) Merchant Bank
4) is the main function of an international bank

a) Financing the import-export trade
b) Financing for the project

c) Consolidation of international debt
d) all of the above

5) Government Scheme is related to Financial Inclusion.
a) PMJBY b) UJWALYOJNA
c) PMJDY d) None of these
6) NABARD is associate with :
a) Rural development b) Urban development
¢) Industrial development d) Development of railways
7)  The bank that takes the initiative to set up rural bank is called
a) Lead Bank b) Regional Rural Bank
c) NABARD d) Sponsored Bank
8) At present there are Banking Ombudsman Offices in India.
a) 20 b) 22
c) 24 d 26
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9) Bankrate is the tool of monetary policy.
a) Quantitative b) Qualitative
c) Moral d) None of this

If the interest on the loaned assets given by the banks is outstanding

10) for a period of more than Six months is called
a) Profitable assets b) nonperforming assets
c) aandb d) none of this
11) Bank provides services to companies in other countries.
a) International Bank b) Maharashtra Bank
c) SBI d) None of the above
12)  is AWork of CIBIL.
a) ATM checking b) Credit score determination
c) Debit card checking d) All of the above
Write short answers. (Any Four) 12

1) Explain what is international banking

2) Explain the nature of Regional Rural Banks

3) Explain the objectives of the Bank Regulation Act.
4) Explain the recent reforms in the banking sector.
5) Explain Basel Agreement-1.

6) Explain the benefits of crop insurance.

Answer the following questions. (Any Two) 12
1) Explain the defects in Regional Rural Banks.

2) Explain the objectives of monetary policy.

3) Explain the need for a central bank.

4) Explain the concept of retail banking.

Answer the following questions in detail. (Any One) 12
a) Explain the findings of the Narasimham Committee and What are the
banking sector reform measures suggested by Narasimham Committee?
OR
b) State the objectives and functions of leading banks.
Answer the following question in detail 12

Explain the definition and functions of Central Bank.
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Seat

NO. Set| P

M.A. (Economics) (Semester - IV) (New) (Old) (CBCS) Examination:
March/April - 2025
Macro Economic Analysis (MA24401)

Day & Date: Wednesday, 14-05-2025 Max. Marks: 80
Time: 03:00 PM To 06:00 PM

Instructions: 1) All questions are compulsory.
2) Figures to the right indicate full marks.

Q.1 Choose the correct alternative. 16
1) Inthe Keynesian model, macro economic equilibrium can take place
at

a) Full employment

b) Less than full employment

c) Less than full capacity output
d) Both‘b’and ‘c’

2) Money inflation means stage of
a) Constant price b) Decreasing prices
c) Increasing prices d) None of these

3) Transaction demand for money varies
a) Positive with income
b) Negative with rate of interest
c) Positive with rate of interest
d) Negatively with income

4)  Philips curve shows the relation in
a) Inflation and Unemployment b) Income and consumption

c) Income and Price level d) None of these
5) IS curve is sloped

a) Horizontal b) Positive

c) Negative d) Vertical
6) Bank rate is measure on credit control

a) Quantitative b) Qualitative

c) Selective d) None of these

7) In Keynesian system; expansionary fiscal policy leads to
a) Rise in equilibrium output, employment and interest rate
b) Rise in equilibrium output, prices and interest rate
c) Rise in equilibrium prices, employment and interests
d) Rise in equilibrium output, prices and employment
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8) Real balance effect is the contribution of
a) Keynes b) Pigou
c) Samuelson d) Patinkin
9) In India inflation most adversely affects
a) Govt. Pensioners b) The factory workers
c) The traders d) The agricultural labourers
10) According to Tobin demand for money is significantly determined by
the factor.
a) Wealth b) Rate of interest
c) Income d) Uncertainty
11) Post-Keynesian approach of demand for money is related to
a) Baumol b) Tobin
c) Patinkin d) All of above
12) ‘Fishers equation are not wrong but need to be restate!” Who said
this statement?
a) Keynes b) Friedman
c) Baumol d) J.B. Say
13) According to Patinkin, at the full-employment level in economy there
IS a balance between
a) Demand for money = Supply of money
b) Demand for commodities = Supply of commodities
c) Demand for labour = Supply of labour
d) All above
14) A book ‘General Theory of Employment, Interest and Money’ is
written by :
a) J.B.Say b) Keynes
c) Tobin d) Marshall
15) Kinked Phillips curve concept introduced by .
a) Phillips b) Friedman
c) Patinkin d) Tobin
16) In running inflation, the annual growth rate of price is to be
a) 3% b) 3to6%
c) 10% d) 20 to 30%
Write answer in short. (any Four) 16
1) Explain the Tobin’s model of demand for money.
2) Explain Keynesian approach to inflation.
3) Explain Tobin’s modified Philips curve.
4) Explain Baumol’s inventory theoretical approach.
5) Suggest measures to controlling inflation.
6) Explain the concept of expectations.
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Write short answers. (any Two)

1) Real balance effect

2) Mundell-Fleming model

3) Monetary approach to the balance of payments.
4) Asset Markets

Write answer any One of the following.
1) Give an outline of short run and long run Philips curves.

2) Discuss the Friedman’s approach to demand for money.

Explain the New Classical approach towards macro economics and
policy implications.

16

16

16
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NO. Set| P

M.A. (Economics) (Semester - IV) (New/Old) (CBCS) Examination:
March/April - 2025
Public Economics (MA24402)

Day & Date: Friday, 16-05-2025 Max. Marks: 80
Time: 03:00 PM To 06:00 PM

Instructions: 1) All questions are compulsory.
2) Figures to the right indicate full marks.

Q.1 Select the correct alternative. 16

1) Income tax is an example of

a) Direct Tax b) Indirect Tax

c) Special Tax d) State Tax
2) The concept of real balance effect was introduced by

a) Central Government b) State Government

c) R.B.L d) Prime Minister
3) During boom period public expenditure should be

a) less b) More

c) Very Large d) Non of the above
4)  During a recession, the budget is expected to be

a) Surplus Budget b) Deficit budget

c) Zero Balanced Budget d) Balanced Budget
5) is the period of 13th Finance Commission.

a) 1985-1990 b) 1995-2000

c) 2005-2010 d) 2010-2015
6) Domestic debt is called public debt.

a) Internal b) Local

c) External d) Non of the above
7)  Monetary policy and fiscal policy are each other.

a) Alternative b) Anomalous

c) Supplementary d) Non of the above
8) presents the Union Budget.

a) Prime Minister b) Chief Minister

c) Governor d) Union Finance Minister
9) Public debt taken for war expenditureis __ debt.

a) Productive b) Unproductive

c) Voluntary d) None of these
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10) The government's policy relating to taxation, public expenditure, debt
and its management is called

a) Monetary policy b) Fiscal policy
c) Expenditure policy d) All of the above
11) InIndia type of polity exists.
a) Unitary polity b)  Multilateral polity
c) Federal polity d) All of the above
12) The word Budget is derived from the word Bogvette.
a) German b) France
c) French d) None of these
13) Which year India introduced the gst?
a) 2014 b) 2016
c) 2018 d) 2020
14) is a financial transfer from the central government to the state
government.
a) Participation in tax revenue b) Grants
c) Loans d) All of the above
15) Taxes are being transferred.
a) Direct tax b) Indirect tax
c) Progressive tax d) None of these
16) Land revenue is a source of income of government.
a) Central government b) State government
c) Local bodies d) None of these
Q.2 Write short answers. (Any Four) 16

1) Explain the concept of direct tax.

2)  Write what is public debt.

3)  Write the functions of Finance Commission.

4)  Write the reasons for increase in public debt.

5) Explain the fiscal policy strategy for stabilization.
6) Explain the principles of public debt management.

Q.3 Answer the following question (Any Two) 16
1) Explain the instruments of revenue of the State Government.
2) Explain the different types of taxation in India.
3) Explain the classical view of public debt.
4) Explain the role of fiscal policy in economic development.

Q.4 Answer the following questions in detail. (Any One) 16
1) Explain the federal system of government in India.
OR
2) Explain the interdependence between monetary policy and fiscal
policy.
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Q.5 Answer the following questions in detail. 16
Explain the reasons for the increase in public expenditure in India.
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No. Set| P

M.A. (Economics) (Semester - IV) (New/Old) (CBCS) Examination:
March/April — 2025
Labour Economics (MA24404)

Day & Date: Tuesday, 20-05-2025 Max. Marks: 80
Time: 03:00 PM To 06:00 PM

Instructions: 1) All questions are compulsory.
2) Figures to the right indicate full marks.

Q.1 Select the correct alternative. 16
1) Indian Trade Union Act has becomes into existence in
a) 1926 b) 1936
c) 1946 d) 1956
2) The comprehensive concept of social insurance includes
a) lliness b) Accident
c) Unemployment d) All of the above

3) Social security means :
a) Social Help b) Social Change
c) Social Control d) Governmental control

4)  The principles of labour welfare include
a) Appropriate wages
b) Respect the sentiments of the workers
c) for the convenience of the workers
d) All of the above

5) Industrial Disputes Act has comes into existence in

a) 1947 b) 1967
c) 1977 d 1987
6) The problems of woman workers in India is
a) Low wages b) High working hours
c) Moral Collapse d) All of the above
7) The employee’s is introduced in 1971.
a) Family Pension Scheme b) State Insurance Act
c) Provident Fund Act d) Minimum Wages Act
8) 1948, the Act for workers was passed.
a) Minimum Wages Act b) Relative Wages Act
c) Bonus Allocation Act d) None of these
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9) This is the reason why workers in India are inefficient.

a) Adverse weather b) Low Wages

c) Overtime d) Allthe above
10) Bonus Allocation Act was enacted in :

a) 1965 b) 1955

c) 1960 d) 1950

11) The Labour Act was enacted to protect child Labour in India.
a) Labour Act 1948 b) Mine Act 1952
c) Child Employment Act 1938 d) All of the above

12) This organization is involved in labour welfare work in India.
a) Central Government b) State Government
c) Labour Union d) All of the above

13) The principle of strengthening trade union is
a) One Union in one industry b) Few Unions in one Industry
c) Many Unionsinone Industry d) None of the above

14) Social Insurance is meant to help in times of social tragedy and
difficulty.
a) Economic b) Political
c) Necessities d) All of the above

15) Due to labour welfare reforms in India.
a) Increase in the presence of workers.
b) Improvement in Industrial relations
c) Increase in the efficiency of workers
d) All of the above

16) The effects of globalization on labour are

a) Labour reduction b) Employment uncertainty
c) Voluntary retirement d) All of the above
Write short answers. (Any Four) 16

1) Whatis safety nets?

2) What is social security?

3) Whatis trade union?

4)  Whose are the methods of settlement of Industrial disputes?
5) What is social assistance?

6) What is labour welfare?

Short notes. (Any Two) 16
1) Role of the joint management council.

2) Insurance scheme for the workers

3) Retrenchment of labour

4)  Conciliation
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Q.4 Answer the following questions in detail. (Any One) 16
1) Explain the functions and role of the Trade Union.
OR

2) Explain the problems of child labour in India.

Q.5 Answer the following question in detail. 16
Explain the various measures adopted for the labour welfare in India.
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Seat

No. Set| P

M.A. (Economics) (Semester - IV) (New/Old) (CBCS) Examination:
March/April — 2025
Agricultural Development of India (MA24405)

Day & Date: Tuesday, 20-05-2025 Max. Marks: 80
Time: 03:00 PM To 06:00 PM

Instructions: 1) All questions are compulsory.
2) Figures to the right indicate full marks.

Q.1 Fill'in the blanks by choosing correct alternatives given below: 16
1) The non-institutional source of agricultural credit includes .
a) Government b) Commercial Banks
c) NABARD d) Money lender

2)  All India Rural Credit Survey Committee in 1951 was constituted
under the chairmanship of

a) Shree Gorwala b) A.M. Khusro
c) Shree Vaidyanathan d) Shree Shankar
3) The co-operative credit societies in India started in :
a) 1910 b) 1904
c) 1912 d) 1918
4)  The government of India passed standard weights act in
a) 1939 b) 1949
c) 1950 d) 1955
5) The lead bank scheme is formulated by committee.
a) Narsimham b) Mehata
c) Patil d) Nariman
6) Regional Rural Banks in India started in
a) 1969 b) 1978
c) 1974 d 1975
7)  Food Corporation of India established in .
a) 1960 b) 1961
c) 1965 d 1967
8) NAFED was established in :
a) 1950 b) 1958
c) 1960 d) 1965

Page 4 of 6



Q.2

Q.3

Q.4

SLR-VK-33

9) The commission and market charges in regulated markets are fixed

by .

a) Market Committee b) Farmers

c) Government d) Agents
10) In India the structure of Land Development Bank is

a) Two tier b) Three tier

c) Four tier d) None of the above
11) The minimum support price are recommended by :

a) CACP b) NABARD

c) NAFED d) NCDC
12) Generally technique of production is used in agro-industries.

a) Labour intensive b) Capital intensive

c) Imported d) None of these
13) Is a major feature of agriculture labour.

a) More literacy b) Less wage

c) Organized d) All of the above
14) The aim of Buffer Stock Policy of the government is

a) Industrial development b) Rural development

c) Price stability d) None of the above
15) Agro-processing industries includes :

a) Textile b) Sugar industry

c) Fruits processing d) All of the above
16) unemployment is found in agriculture sector.

a) Disguised b) Frictional

c) Cyclicant d) None of the above
Write short answers. (Any Four) 16

1) Write the full form of AGMARK.

2) What is food security?

3) What is marginalization of agricultural labour?
4) What is crop insurance?

5) What is medium term loan?

6) Define public distribution system.

Answer the following questions. (Any Two) 16
1) Explain characteristics of agricultural labour.

2) State the role of NAFED.

3) Discuss about the market information.

4) State the role of finance in agriculture.

Broad answers question. (Any One) 16
1) Discuss the problems of agro-industries and measures for

development of agro-industries in India.
2) Discuss the National Rural Employment Guarantee Scheme 2005.
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Q.5 Broad answers question. 16
Discuss the measures and various problems of agricultural marketing.
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Seat
No.

Set| P

M.A. (Economics) (Semester - IV) (New/Old) (CBCS) Examination:
March/April — 2025
Advanced Banking (MA24407)

Day & Date: Thursday, 22-05-2025 Max. Marks: 80
Time: 03:00 PM To 06:00 PM

Instructions: 1) All questions are compulsory.
2) Figures to the right indicate full marks.

Q.1 Select the correct alternative. 16
1) controls the supply of money and bank credit.
a) RBI b) Indian Banking Association
c) SEBI d) None of These
2) The bank that takes the initiative to set up rural bank is called
a) Lead Bank b) Regional Rural Bank
c) NABARD d) Sponsored Bank
3) NABARD is associate with
a) Rural development b) Urban development
c) Industrial development d) Development of railways
4)  Crop insurance covers the risks of
a) Natural fire b) Storm
c) Drought d) All of these
5) Lead Bank scheme was introduced by RBI in the year
a) 1986 b) 1969
c) 1975 d 1980
6) Government Scheme is related to Financial Inclusion.
a) PMJBY b) UJWAL YOJNA
c) PMJIDY d) None of these

7) Retail banking means
a) Retail shopkeepers
b) Same as universal banking
c) Bank financing to retail traders
d) None of the above

8) At presentthere are Banking Ombudsman Offices in India.
a) 20 b) 22
c) 24 d 26
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is the focuses on the financial needs of the institutional clients

9) and the industry.
a) Universal banking b) Virtual Banking
c) Internet banking d) Wholesale banking

10) The is vested with the responsibility of conducting monetary policy.
a) Central Bank b) Different Banks
c) Reserve Bank of India d) SEBI

11) are the reasons for introducing the economic reforms in 1991.
a) The Gulf war
b) The negative balance of payments
c) Increase in fiscal deficit
d) All of the above

12) concept was not a part of the economic reforms under the
New Economic Policy (NEP) in 1991.
a) Centralisation b) Liberalisation
c) Globalisation d) Privatisation

13) organization work to implement crop insurance scheme in India.
a) Life insurance corporation of India
b) General insurance corporation of India
c) AandB
d) None of this

14) bank is an international finance and credit institution.
a) RBI b) SBI
c) Universal bank d) Merchant Bank

15) Banking Regulation Act was implemented for co-operative banks in
the year of :
a) 1955 b) 1975
c) 1965 d) 1985

16) is the main function of international bank.
a) Financing the import-export trade
b) Financing for the project
c) Consolidation of international debt
d) All of the above

Q.2 Write short answers. (Any Four) 16

1) Explain what is international banking.

2) Explain the nature of Regional Rural Banks.
3) Explain the need for a central bank.

4) Explain the concept of retail banking.

5) Explain Basel Agreement-1.

6) Explain the benefits of crop insurance.
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Q.3 Answer the following questions. (Any Two) 16
1) Explain the defects in Regional Rural Banks.
2) Explain the objectives of monetary policy.
3) Explain the objectives of the Bank Regulation Act.
4) Explain the recent reforms in the banking sector.

Q.4 Answer the following questions in detail. (Any One) 16
1) Explain the findings of the Narasimham Committee and What are the
banking sector reform measures suggested by Narasimham Committee?
OR

2) State the objectives and functions of leading banks.

Q.5 Answer the following questions in detail. 16
Explain the functions of Reserve Bank of India.
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